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Instructions: Answer all questions in section a and any other two questions in section B.

Section A:

Question one(30marks)

a)Define the following terms;

 i)test of hypothesis.

Ii)type one error.

Iii)type ii error.

Iv)descriptive statistics.

V)inferential stAtistics.

b)State two relative disadvantages of using the questionnaire as a means of collecting data.

c)Discuss four limitations of statistics in biostatistics.

d)The weights of 15 parcels recorded at the Gpo were as follows:

20,41,25,32,17,44,55,35,36,40,42,16,49,29,52 (in kgs.)

Determine;

i.interquartile range.

ii.standard deviation.

e)The quality department of a wire manufacturing company periodically selects a sample of wire specimens in order to test for breaking strength. Past experience has shown that the breaking sstrengths of a certain type of wire are normally distributed with standard deviation of 200kg.a random sample of 64 specimens gave a mean of 6200kgs.Find out the population at 95% level of confidence.

Section B

Question two (20 marks).

The following table shows the number of students in form 1,2,3,4 classes in Njiri high school and their parents socio economic welfare; poor, middle class and rich 

	
	Poor
	Middle class
	Rich
	Total

	Class
	
	
	
	

	1
	16
	28
	58
	102

	2
	22
	25
	34
	81

	3
	13
	12
	14
	39

	4
	23
	34
	39
	90

	Total
	74
	99
	145
	318


a)group the data into frequency distribution table.

b)calculate all the measures of central tendency for the above data.

Question three (20 marks)

a)Explain the following terms:

i.sample mean.

ii.sample variance.

iii.population mean.

b)What is random sampling?

c)On the basis of very large samples the mean (u) length of a population of seeds is estimated to be  3.8 mm and q is estimated to be 0.15 mm. Is it likely that a randomly selected seed of length 4.3mm belongs to this population?Use z-score to determine this.

Question four (20 marks).

The following are the speeds(miles per hour) at which 20 cars are timed on 1-17 in Arizona in late evening traffic.

77,69,82,76,69,71,80,66,70,77,72,73,80,86 74,77,69,89,74 and 75.

i.calculate the mean of these speeds.

ii.Find the mean after subtracting 75 from each value and then adding 75 to the results.What general implication does this suggests for the calculation of means?

iii.calculate the median and mode for the above data.

